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o AKMH-BWRIg-, Fi—H4) K354 #45 (sentential logic, propositional logic) 48 M
WA, F =AMy BB 4 (predicate logic, first-order logic) 48 M 34 48,

o AP R B FRNRALE K4 T (a) ‘A ‘and’; (b) ‘V*: ‘or’; (c) “O’: “If ..., then
w23 (d) 9 fnot’; (e) Y (BAREIE): “for all’; (f) ‘T (HAEEIR): ‘there is’,

o EIZEAE, AR AR RUEATIRFA BT A G GIRILRY), E32BAIRATIE A 68 4%
AL (3R R) R A —RF, BAEE A,

¥ —y 356 FiR

L AT FRAT 5 &) $03F MR35 6) B ARG35 6) | it Fla¥AZBA & JR-F354) (atomic sentence)
P A& F L34 (10/100).

(a) R=. 2w Fo LA ZAF E—AGHBEIEE,
(b) REFoFwWRMAF, —AERBE, — AT BRI,
2. A FEAEAR (truth-table) FIF T 73352 & B A K (valid) %3 (10/100).
(P2Q)/..(-P>Q)
3. AR5 o) 4R 69 AR RIS AT 6938 85 1 22 (15/100),
(P2 QA(RRDS)A-(PVR)D(QAS)
4, #) I35 &7 R0 ORI B BA LA T 33 (15/100),
(=P>Q),(PD>(-QDR))/..(QVRE)

5 Ay Al 393048
5. FURDA T 4R 4k 69 38 5B 48 5508 T 2 4B F S35 4) SE AR 3R 4 4935 4) (10/100),
(a: = P BHGREEIR, Q ___&£4)
(a) EVAHREEA BB IR,
(b) RELE—ERBIERGE A
6. VAT b mas B M 3GhE (BT H) R 1R 18 69 5 3% )(10/100),
(Fz)(Pz D Qz), Qy)Py /... (32)Q=
7. )RR AU T 6B I (15/100),
((3z)Pz D ~(32)Qz) > (Vy)((3z) Pz D —Qy)
8. A JH i 38 $5 A S BA A BB O LU T 383K (15/100),
(Vz)(Pz O (Qz O Rzx)), (Jy)(Qy D (Ry D Sy)) /.. (V2)Pz D (Ty)(Qy D Sy)




